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10.
11.

INSTRUCTION TO CANDIDATES

Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/ questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/ most appropriate answer, out of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only.

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ . @ @ If (B) is correct answer.

There are 75 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each. :
Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to- be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as standard.
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COMMERCE - 111
arfuTsd - 111
1.  Macro economic stabilization is also called 1. 98 3 ¥fer feerienor =i U@ off a1 S R -

as :

(A) Supply side management
(B) Demand side management
(C) Both (A) and (B)

(D) None of the above

Consider the following statements and
find out the correct alternative from the
codes given below :

(a) Privatization is a process by which
the government transfers the
productive activity from the public
sector to the private sector.

(b) Disinvestment is one of the routes
of privatization.

() India adopted exchange rate
adjustment and rupee convertibility

for privatization.

(d) Globalization is a process of
integrating our economy with world

economy.

Choose the correct answer :

(A) All the statements are true
(B) (D) is false and rest are true
(C) (c) is false and rest are true

(D) (b) and (c) are false and rest are true

(A) Smafd 9 weiEd
(B) T U FEUA
(C) (A) T (B) I
(D) SR H FIE T

frafafaa faerol #1 IR ¥ @ g =
foq e Fe | T faswed AT

(a) Troiereor Tk witkan  fSe wrem @
TWHR SAEHA fhaell Sl qEsiw
& § Feit & & swaiafia & T

(b) Tatee fsie & & anl g1

() 9ra 3 frsfteo & fag fafma T
FHSA TE 9 (rupee) qftafeddr =
iR o 7

(d) et AW steferaEn w1 foaw
AT | THIFA FL 1 Teh Jishl
gl

'Hﬁ'ﬁ'{ﬂ'ﬁ

(A) aft T T B

(B) (b) 3T & 9 WA ©

(C) () TIAZINTAE

(D) (b) 3R (c) o & I 7 €
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Arrange the strategic management
process steps in a right sequence :

(a) SWOT Analysis

(b) Formulation of mission and
objectives

(©) Implementation

(d) Strategic alternatives and choice of
strategy

(e) Evaluation
Codes :

(A) (@), (b), (©), (d), (e)
(B) (b, @), (d), (), (e)
© (@), (©), () (a), (e)
(D) (b), (@), (©), (d), (e)

While calculating P/V ratio, which
formulae is not used ?

Change in profit

(A)

Change in sales

(B) 100 — fixed cost ratio to sales

Change in contribution

(©)

Change in sales

Fixed cost + profit

(D)

Sales

3.

HfTate eier wishan =Rl i W STy §
efted ST :

(a) W@ (SWOT) favemy
(b) YA T 2T 1 G

(c) RI=EA
(d) ToFifas fashey T TOFifa 1 <wem

() TeaiwA

Fe :

A) @), O, ©), @), ()
B)  ®) @), @, © (@
© (), ©) ), @) @
D) ®) @) © @, @

P/V 31U T % §HF fRE I 1 SwEm
T fopan wman 2

AT H giEd
A) ey 3 wfeada

(B) 100 —fasha =1 feer @FTG STuE

3T # uiaeq
©) " oz & v
TR @ + &
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Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) :

Funds flow statement is not competitive

but complimentary to financial statement.
Reason (R) :

Funds flow statement cannot replace the

Balance sheet and income statement.
Codes :

(A) Both (A) and (R) are correct and (R)
is the correct reason for (A)

(B) Both (A) and (R) are correct and (R)
is not the correct reason for (A)

(C) (A) is correct, but (R) is wrong

(D) (A)is wrong, but (R) is correct

Inductive method is also known as :
(A) Priori method

(B) Analytical method

(C) Empirical method

(D) Abstract method

F & aaer fay v § 9 afueReT (A)
T SIOT (R) & TWifehd fman T 2
AMU®RLT (A)

e yarg fae gfrericrss -l aen fosa
foreruT 1 YT Bl B !

HIOT (R) ¢

tg yaTe faeRu qerge aur I faeww &
yiaeentyd & o Tt T

e

(A) (A) T (R) S WL € T (R), (A) T
el HRO L

(B) (A) e (R) i WEl € 71 (R), (A)
HE R A B

(C) (A) T ¥ TY (R) T €

(D) (A)7TEd ¢ T (R) W& B

ST Tt oY e off et S e
(A) W fafe

®) dofe fafu

(C) ervafas fafa

| (D) oTqd-siy fafy
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is the locus point of isoquant

of inputs are zero.
(A) Ridge lines

(B) Marginal rate of technical
substitution -

(C) Curvilinear Trend

(D) Long run production function

is a power functions in which

the total quantity produced is the result
of the product of input raised to some

power such as Q =a L K°.

(A) Cobb Dauglas production function
(B) Morris Dobb production function
(C) VES production function

(D) Leon Tief production function

_ is a pricing system where the
dehvered prices are uniform within a
specific area and differ systematically
among other area depending on
transportation cost.

(A) FOB pricing
(B)  Zone pricing
© Differentiated pricing

(D) Segmentation pricing

3T & HHICHE 1 STareefy
forg ¥ 3 €1

(A) Few @
(B) ehdlen! UfETdT 1 HiAiaw &t

(C) T ofa
(D) = ST wr

TH IR SR § el g
S WS Q = o [P K F THE Soret foreht
HTdihId 3T o SedTg h1 IRUIM gl §1

(A) Hie ST TERM HewH
(B) HIW Tfd WM GewH
(C) =HITH. WeRM hewr
(D) fo1aH e e HaRH

U el Yol § el faada
HAA TG Th fa9y & ¥ 1w wom o §
T el o &9 § e e W ffk
HAd TR T Y S1er-37erT Bt ¥

(A) FOB qcdish
(B) & HeAieR
(C) 3asfeid Joaiwd
(D) fawifSia qeaie
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).

According to the simple five-step model
of the marketing process, a company
needs to _ before designing a

customer-driven marketing strategy.

(A) determine how to deliver superior

value

(B) build profitable relationship with

customers
(C) use customer relationship
management to create full

partnerships with key customers

(D) understand the market place and

customer needs and wants

Which of the following pricing strategies

attempts to influence a customer’s

perception of price to make a product’s

price more attractive ?

(A) Captive pricing

(B) Psychological pricing
(C) Demand-based pricing

(D) Mark up pricing

10.

11.

frque wfsrean & SR UTE =RUE Aied %
STTER, U ARG fauum WRtfT TR
F U R K o STkl
B ¥

(A) I M fore TR Sefer foan s
=1 fafyem w1

(B) UTEeh! % WY TR Heel w1 fmior
H

(C) Tewhl % Ty Tl WERH S %
- foQ TTes ey FEEA w1 STEN w

(D) oo T TS TTehi I STERIHAL
T ST A H AHHA

Frefafaa B 9 &9 1 qediwa Hifd, IR
I T T 37Teeh TR T & TT i

g weifi wes % TYfT N wIfd R R

T A S 2

(A) s e
(B) WIGITR WIS
(C) =i smua wgfEm

(D) TTeheTd T
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12,

13.

14.

When a consumer purchases a product  12.

at a convenient location and when she is
ready to use the product, we say the
product has achieved : utility
and utility, respectively.
(A) place ; time

(B) time; place

(C) place ; possession

(D) time ; possession

Financial management is not concerned 13.

with

(Fill in the blank)

(A) fund raising from capital markets
(B) acquisition of assets

(C) investment of funds in securities

(D) pricing the products to be sold

The term capital structure represents 14.

proportionate relationship between

(Fill in the blank)

(A) Authorised Capital and Paid up
Capital

(B) Assets and Liabilities
(C) Debt and Equity
(D) Capital and Profit

el IS YA T GRIUTSHE WH W
HI3 o TS 3R W9 98 T ST @ F
fore o @, @ < e € fop e Y
Expiucilc

fosita weiem = ¥ 999 el ¢

(R o =1 g shifvm)

(A) Tt TR & B IR

(B) Uil =1 enfiruey

(C) wiayfo=i & e 1 faw

(D) fommat =it STt g <h1 Frefm

st 7= g, % el HURYIGR
ey gt B

(R = 1 O Ffm)
(A) s Ioit o T st

(B) uRwwfwEl T et
(C) U W WRHE®
(D) ¥oit el

SPACE FOR ROUGH WORK / {& &1d &% fordt Wi

7210/TFU-COMM/GLE-III



i

When share capital of a company is not
represented by the assets of equal value ;

it is known as

(Complete the sentence with correct

words)

(A) Watered capital
(B) Paid up capital

(C) Over capitalization

(D) Capital gearing

Which of the following statements is
false ?

(A) Organisations are now generally
focusing domestic rather than

international markets

(B) Organisations have been subject to
a raft of organisational change

programmes

(C) Organisations have adopted more
flexible forms

(D) Organisations are now less

hierarchical in nature

Which of the following is not the method
of Training ?

(A) Role playing
(B) Case study

(C) Internship
(

D) Interview

15.

16.

17.

& fHet wEEt #1 ofw 4t HEE! %
gfrgrfaa &1 god 99 7 q@ a1 4
. i 4

(& I3l | a1 U HIS0)

(A) = ISt
(B) T
(©) i gofremar
(D) it frafie

frfafen o @ #F € 3fw e 82

(A) e SHTSmERe QTH: ST s
¥ ST Se] TSR IR S Q@ 8 A

(B) W, SeAe URed wEwA
T TR & GO FE Hl §

(C) et o7 Sfereh Treie @ G Tt
g

(D) Herd, o7 W H FH BEeAfchehat
B §

e § | SH-w afte fafy @& €2

(&) ffn T

(B) AR ez

(C) W¥g (Internship)
(D) HI&EhR
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18.

19.

20.

State the main objective of performance
appraisal system :

(A) To assess employee’s strength and
weaknesses

(B) To identify salary expectation
(C) To evaluate the overall work

(D) Tostudy employee satisfaction level

The activities of the bank covering issue
and underwriting of shares and
debentures for its client are termed as

(Complete the statement with correct
words)

(A) Merchant banking
(B) Central banking

(C) Exchange banking
(D) Industrial banking

Which of the following is a grouping of
three international institutions, namely
the International Bank for Reconstruction
and Development, the International
Development Association and the
International Finance Corporation ?

(A) IMF

(B) European Central Bank

(C) WTO

(D) World Bank

18.

19.

20.

fosre qeatsa yonel! w1 qe

qdRy :

(A) wHAR &1 gmed we wue
P EICE|

(B) o YR i Y= M

(©) =yl % &1 geaiR

(D) HH=IRET % Tgfic W/ 1 oo

A ek & fau smores (debentures)
&N (shares) % Sif@q 3ieh T 9t &
el % F fRamRerdl w5 3
SR

(W&l wIsa] | AT T i)

(A) wfe S
(B) ¥zw Ak
(C) TEEE AfhT
(D) g S

freifera & @ #F 1 d iy geem
THA: REA U fasm siqiets A
it fomm e wd simiety fa
HIRIA I TH TUE & ?

(A) IE.TATF. (IMF)
(B) I dger e
(©) s=gAs (WTO)
(D) =€ J=
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21.

22.

23.

Under a system of floating exchange 21.

rates, there is general tendency for :

(A) The currencies of relatively low
inflation countries to depreciate

(B) Exchange rates to be insensitive to
the differential rates of inflation
between countries

(C) The currencies of relatively high-
inflation countries to depreciate

(D) The currencies of relatively high-
inflation countries to appreciate

What are the forms of assistance that the 22.

World Bank provides to its members ?
(A) Technical and financial

(B) Political and financial

(C) Political and economic

(D) Technical and military

Which of the following is not considered ~ 23.

as the function of Reserve Bank of India ?
(A) Issue of currency

(B) Banker’s Bank

(C) Control of Credit

(D) Issue of Credit Cards

TAITT Taaa S (o Yuiell & SAdild T
= ygfa fereek fae ot s § 2

(A) A TR aTel <9I St el @l
ST BT =T8T

(B) IS Y2, ¥ & HeA HEIewl F
faterys Y & SraeRid 81 =feq

(C) anifae dR R Sa-geifokdt arer <uil
1 HeTeil ol SFaHedH T HIey

(D) wrafers AR W IA-TRITERdt arer 39t
it Terail i ST B =TT

g S 379 U i fohT YRR o1 Team
qAR?

(A) TR TE faxita
(B) TsMfaer To foreii
(C) o Td i
(D) TRl TS S

f o 9 f9 wrdie fod % &1 T &
TER?

(A) &I SR &/
(B) dwd Sw
(C) shfee Frism

(D) whfee HIE ST &L

SPACE FOR ROUGH WORK / T& & & &9 g
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24.

25.

Which of the following is considered as
‘qualitative control’ measure of credit
control ? '

(A) Cash reserve ratio
(B) Bank rate
(C) Credit rationing

(D) Open market operations

Name the bank which provides refinance
assistance and credit to agriculture and
rural development in India.

(A) RRB (Regional Rural Bank)

(B) NABARD (National Bank for

Agriculture and Rural
Development)

(C) SBI (State Bank of India)

(D) DCCB (District Central

Cooperative Bank)

24.

25.

e 4 fondt Shfee foreamr % Tomeer firfn
U & ®Y H HHET a1 | 2

(A) u fiord W
(B) &
(C) shfee M

(D) A9 Wk SO

S S T A AR S FHiY T Urehor
& for gafdia wedm we Sfee 2 i

(A) foHe ¥ S (RRB)

(B) S §% WR Wiwew TT W
IeTHE (NABARD)

(C) Ve 9% 3w fean (SBI)

(D) fefigw dgar wrettadfea S (DCCB)
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26.

27.

Which Committee recommended reforms-

in banking and financial system that were
introduced by the Govt. of India in
1992 - 93 ?

(A) Royal Commission on Indian
Currency and Finance

(B) Subba Rao Committee

(C) Kelkar Committee

(D) Narasimham Committee

A Development bank is concerned with
providing all types of financial assistance
in the form of loans, underwriting,
investment and promotional activities

to:

(A) Government departments

(B) Business and industrial units

(C) Micro finance units

(D) Agriculture

26.

27.

T wfufa & wxgfd W wRa wer A
1992 - 93 # dfsh wd fomita yoret & uR
T o ?

(A) 9REHE &1 T8 ford W UWaet TR

(B) e wfufa
(C) heht FfAfd

(D) “Rfaww wfafa

i, SifEd (underwriting), ferer &
THRHe e & &7 § 94 YRR
fodia wsam yem & fawe & o1 sl
B

(A) HER faur & fea
(B) =HIHM TS EIfiTs gl & forg
(C) TIEH! R ShiEdl & fog

(D) Ffv % fo
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28.

29.

Which of the following accounting
standards are associated with “Fair Value
Measurement’ ?

(a) Ind AS-10
() AS-3
() Ind AS-113
(d) IFRS-13

() IFRS-1
Codes :

(4) (@, (©

B)  (®), (c)

(© (), ()

D) (9, (@)

Capital rationing may arise due to

(a) imperfections of capital market

(b) maximisation of shareholders’
wealth

(c)  deficiencies in market information

(d)  reluctance to take resort to financing
by external equities in order to avoid
assumption of further risk

(¢) minimisation of cost of capital

Codes :

(A) @) (9, (d)
(B)  (®), (c), (e)
©) (©, @) (e
(D) @ () (e)

28.

29.

1§ 9 39 @ oaiwT 99, 3w
TSRE=' & 99 R AN 2

(a) Ind AS-10
(b) AS-3

() Ind AS-113
(d) IFRS-13

() IFRS-1
e

(A) @ (o)

(B) (b), (9

© (b) (I

D) © @

Huiteet IR ) Savashar 6% SR &

Hehat ® :

() ST SIS 1 arqofan

(b) SwefE & o7 w1 Afumadimo
(TfmrEsIen)

() 9NR o ¥ wiar

(d) ST T S i HeT F L FA F

A9 H TS e % mem
ot & forT #en Sem & TR we

(€ US FT @rma w1 gATHET
(Tafmmgserm)

E TR

(A) (@), (), (d)

(B)  (b), (9), (e)

© @ @), (e

(D) (@), (@), (e)
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0.

Match the following :

List - I
(@) Chakraborty (i)

Model
(b) Holding Gain (i)
() Purchasing (i)

Power Gain
(d) Retention Ratio (iv)
Codes :

@ () (9 (@
(A) @) @(v) @ i)
(B) & @) @) i)
© O @) () (i)
(D) () (@) @@ (@)

List - II

Current
Purchasing
Power
Accounting

Human
Resource
Accounting
Gordon
Model

Current
Cost
Accounting

30.

ﬁ'ﬁiaﬁﬁ?w:

(@)

(b)

(d)

(A)

(B)

(©

(D)

Thedr Hisd

RIURIE

TCAfST e 19

Rewm o=

@ (b) ()

@ @) @

@ @) @)

@ @) @)

(iv)

() (i)

(i)

@

SPACE FOR ROUGH WORK / T% &rd & fo&l e
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31. Match the following : 31. I THe =i

 List-1 List - IT -1 et - 1
(@) Neutral stock (i) B<1 (a) A i+ i B<1
(b) Defensive stock (ii) B >1 b) Teda =fF @) p>1
(c) Aggressive stock (iii) B =1 () wifqa =i (i) B =1
(d) Super defensive (iv) B <0 (& IR febda  (v) B<o0
stock e
Codes : Fe:
@ () (o (d @ ® (9 (d
(A) @) @ @ @) (A) @) @ @ @)
(B) @) @) @ @) (B) O @) @ (@)
©) @) @) @ @ © @) @@ @ @
@) @ @) @) @) D) @& @) (@) ()

SPACE FOR ROUGH WORK / 1% &1 % f&s wmg
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42.  Which of the following are considered in ~ 42:  iferal den wsfin Iewai & eiientor & fmy o

formulating pricing objectives and Q fora-for =1 Suent S &2

policies ?

(a) When discounts will be given, and (a) B Ha AR 5 g s ?
to whom ?

(b) How flexible prices will be ? (b) F Freed e gt 2

(c) What form of advertising will be (c) WW%WW'&WQW7
used ? ' '

(d) ‘How transportation costs will be (d) uREsd T 1 fesme-fhame fhg gehR
handled ? : BT ?

Codes : &e:

(4) (@), (b) and () - (4) (), () R ()

(B)  (b), (c) and {d) B) (®) (© (@)

©) (@) (c) and (d) © () (0 R (d)

(D) (a), (b)and (d) (D) (a), (b) ¥R (d)

SPACE FOR ROUGH WORK / T% &1 & fad sig
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43.

Match the following methods of pricing :

(@)

(b)

(©)

(d)

List -1

Value Pricing

@

Markup Pricing (ii)

Everyday Low

Pricing

Going-rate
Pricing

Codes :

(A)
(B)
©

(D)

(iv)

(d)
(i)
@

(iv)
(iv)

List - IT

Prices based
largely on
competitor’s
prices

A constant
low price
with little or
no  price
promotion

To add a
standard
percentage
to the
product
cost

A fairly low
price for a
high quality
offering

(b)

(©

(d)

e

(A)
(B)
©

(D)

Hh3TY WIgfHT

TS & st

MY HrefEn

(i)

(iv)

(d)

@
(iv)
()

UF Y 9
gfaeqef &
HTAA IR
ayTRa simd

AR =
T, et
HE off #imq
gig =&

IS AT
R T 99
BIGNGRCH|
ERIEE]

Th 3=
NUEREIG]
TR ) 3ferq
w7 9 w1

SPACE FOR ROUGH WORK / 1% &1d & fad e
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44.

Match the following items in List - I with
those in List - II :

List-1 List - II

(a) Sales Promotion () High

Credibility
(b) Public (i) Proactive
Relations and
Personal
(c)  Online (ii)  Ability to be
Marketing attention
getting
(d) Direct (iv) Customised
Marketing and
response
oriented

(e)  Personal Selling (v) Interactive
and up to
date

Codes :

@ () (9 (d (e
@A) @ O @ @ @
B @ & @ v
© O @ v @ G
@ O @ @ @ e

44. gt - F U H G -1 % 7 Y e

T ;

it - 1
(a) fosra g

(b) AF TEH

(c) ez

(d) SHEER mbfe

(e) =afwaa famy

(@)

(b)

(A) () ()

(B) () (i

© @
D) @

(c)
v)
(i)

(i) (v)

(i)

(v)

()

(iv)

i - 11

e

Tervaraiaar

ElReCich ]
E2IESUG

TfeRe wE

YT e

o

(iv)
(iv)
(iv)
(iv)

SPACE FOR ROUGH WORK / T 18 &% fld s
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45.

. 46.

The following are the steps in the  45.

marketing research process. Arrange
them in a proper sequence starting from
first step :

(a) Research Design

. (b) Data Collection

(c). Problem Definition

f (d) Data Analysis

'(e) Present the Findings

' Codes :

&) © @ O @O
® @ © 0 @
© © ® 6 e @
©) @ © @ OO

The following are the important steps/ 46.

parts of product strategy. Arrange them

ina pI‘Ole‘ sequence .

(a) Labelling

(b) Packaging

() Guarantee

(d) Warranty

Codes :

(A) (), @ (@ ©

® @ b @D ©

© @) @ © @
) @) ®)© D

Wﬁaﬁémmﬁﬁﬁrﬁa’@awﬁn
o ¥ S Sfua ST (qIT =0 § 3
) H orafeer ST :

(a) oTTEE ST
(b) SR EIR

(c) e U
(@ o fawer

(e) e I T
%<

(A) () (@), (), (d) (@)
®) (), (©, b), () (@)
©) () (), @), () @
D) (@) © @, ) ©)

ﬁmﬁmﬂwwﬁh%nﬁ@m/
g ® ﬁaﬁgﬁﬂaamnﬁ'wafw
Hifod :

(a) TIHA

(b)

() TR

(d) IR&A

e

A) () @, @ ©
(®) (@, ®), @ ©
© () @), © @
(D) (@), (), () (d)

SPACE FOR ROUGH WORK / 1% FE & ol e
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14
.

(@)

(b)

©

Match the items in List - I with those in
List - IT :

List - | List - IT

Convenience (i)  Items not

Goods purchased so
frequently

Shopping (i) High priced

Goods Products

Speciality (iii) Products which

Goods consumers like to
purchase with the
least possible
efforts

Generic (iv) Unbranded and

Product Undifferentiated
Commodity

Codes :

@ b (@ (@

(A) @) @ (v @)

B) @) @) @ @

© @@ 6 @ @)

D @) @) @) )

47. e - 1% o 9 gl - 11 3 7 4 firemzw -

Gl - 1
(a) FIHTH T (j)
(b) Il EH (ii)
() wfgafeet 1o (iii)
(d) SRF deR (iv)

e
@ () (o
(A) () @) (i)
(B) (@v) () (i)
© @) @ ()
D) @) @) (@)

et - 11

%] 578 TR~ 7t
gy S

T

3 5178 Suiier

A HYIfad Y ¥
1Y Gl 9 §

EISEEECI

(d)

.‘

ii)

—

i)

(v)

SPACE FOR ROUGH WORK / 7% &Td % fo7dy Y
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48. Match the following : 48. 3 fHeA Hifg :

List-1 List - II -1 -1I
(@) Decision- (i) Sensitivity () ol fmior @) HAGRITeTTd 9feR
making skills Training HA
(b) Inter-personal (ii) On-the-Training (b) FR-Jafew () IR
skills TN
(c) Job-knowledge (iii) Multiple (c) SaFA (iii) =g TeEA
Management

(d) Organisational (iv) In-basket Training (d) GTSAREE §H (iv) S-Sk oA

knowledge
Codes : HE

(@ (b) (9 (d) @@ ) () (@
(a) @ @) @) (@) (a) @ @) @) @)
B) @v) & @) @ B (v O @ (@
© @ (v @ () © @ Gv) @ )
(D) @) @& @ @) (D) @) @ @ @)

SPACE FOR ROUGH WORK / 1% @ré & fo& <g

28 7210/TFU-COMM/GLE-



49. Stages in People Capability, Maturity 49. EF &Ea B A (PCMM) ¥ :
Model (PCMM) :

List - I List - II o -1 et - 10

(a) Levell (i) Competence (a) &I () e
(initial) (RfeR)

(b) Level II (i) Capability (b) =R (i) &HM
(Managed) CEIER))

(c) Levellll (iii) People (c) ®RIII (i) T
(Defined) (aRite)

(d) Level IV (iv) Change d) 'RV (v) TREET
{(Predictable) (fafexamar)

(e) Level V (v) Inconsistent (e) &V (v) ST
(Optimising) (stfenmgfsim)
Codes : e

@ () (© (@ (e @ G (@ (@ (o

(4) (v @) @ @ @) () (v @ @ G@ )
(B) @) (v) & @ @) (B) @) (v) @ @ @)
© @ @ @ @ v © ® G @ () )
@) @) @) O @ v O ™ @) 6 @

SPACE FOR ROUGH WORK / 1% & & fad smig
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50. Match List I - List II : 50. T7=1 =1 fiyemsu .

-1 Al - 11
List-I List-1I1 -{{Eﬁ‘
MBO ) TG T e of
(a) MBO (i)  Combination of graphic @ (l) Brf fafy
rating scale and critical =

incident method

(b) BARS (ii) Complete Evaluation (b) BARS @) wgl gt

(© 360 fell (i) X TH-FH

(c) 360 (iii) Peter F-Drucker
Degree
d) sa-faaor (i Freifa wfaem & s
(d) Force - (iv) Evaluating and @ (v) T . .
o o , TR TR T T ¢
Distribution distributing workers in 2

the predetermined
percentage

Codes :

a b
(@ ) (¢ (d @@ () (o (a

(A) @ @) (@) () A) @ G @) @Gv)

(B) (@) (i) (i) (iv) (B) G @) @) (@v)

© @) @G (@) (v) © @) @ @ ()

© @ 6 @ G D mow @

SPACE FOR ROUGH WORK / T% &1d & ford sie
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51. Match the following :

List -1

(@) Co-owner

(b) Seat on board

(¢) Quality circle

(d) Consultative
body

Codes :

(a4 @ @@ @)

(B) () (i) (i)

© G @O @)

(D) @) @) @

51.

List - II

(i) Worker

Director-
(i) Ishikawa

(iii) Works

committee

(iv) ESOP

(d)

(iv)

(i)

(i)

=1 =1 foem wifee

(b) W AR EE

(c)  TOTEI =

(d) weTEwR T

@ () (9
(a) @O @ (@
(B) () (ﬁi) (i)
© W O @

(D) @) @) @

(i) e wffa

(v) s.TE.ILL

SPACE FOR ROUGH WORK / 1% &td & fod se
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52.

53.

Assertion (A) :

Empowerment involves giving employees
greater autonomy and decision-making
powers.

Reasoning (R) :

It is an opportunity to share in the
company’s profits.

Codes :

(A) Both (A) and (R) are true
(B)  (A) is true but (R) is false
(C) Both (A) and (R) are false

(D) (A) is false but (R) is true

Assertion (A) :

There is always not a positive correlation
between morale and productivity.

Reasoning (R) :

High morale leads to high productivity.

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is not true

(D) (A) is not true but (R) is true

52.

53.

AFUFRT (A) :

[0 § 7 § Hr=iiaE) &) i @y
o iR fofe frmfor wieen & feemn o =

AR B =few |
<hUT (R) :

T8 K o o B feem A 1 oy ¥
T

% :
(A) (A) 3™ (R) S & &
(B) (A) E @ T W (R) 316 ¥
(C) (A) TN (R) S 31T &

(D) (A) 39 § Tg (R) 9T &

AHmYT (A) :

Sferar iR Senfaan ¥ ot TR THRE
HeHsY T Bt g |

T (R) :

I AT F HererEy 35 St I
I HeR

TR

(A) (A) T (R) I T §
(B) (A) T (R) S 37 §
(C) (A) ¥ T o (R) 316 &
(D) (A) o9 § WY (R) T &

SPACE FOR ROUGH WORK / T% &1d & fo svig
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58.

(a)
(b)

©
(d)

59.

Match the item of List - I with the item of
List - I1:

List - I List - II
(Author) (Theory)
Smith (i)  Product life cycle
Ricardo (i) International

trade

Heckscherohlin  (iii)
(iv)

Comparative cost

Absolute
advantage

Raymond
Vernon

Codes :

@ () (9
@@ @ G
@ @ @
(1)
(iv) (@)

(d)
(4)
(B)
© o @
(D) (i) (i)

Indicate the correct statement :

(@) The primary objective of WTO is to
expand international trade.

(b) GATT was replaced by WTO.
Codes :

(A) Only (a) is correct

®)
(©)
(D)

Only (b) is correct
Both (a) and (b) are incorrect

Both (a) and (b) are correct

58.

(b)

(©)
(d)

59.

et - 1% W3l R g - 1% HR % W
w :

T -1 TR - 10
(@ ) (Tagra)
o () g Sited =5
et (i) AU AR
FERE | (iii) GETHSE AT
e T (iv) WH ™
E R

@ G (© (9
(A) @ @ @) (@v)
(B) (v) @) @@ @
© @ @@ @) @)
(D) @) @) (@) @
TE FA H Frdfer =nife

(a) WTO &1 & ¥ SR MR
1 foear & B

() TeH WTO ¥ sEar T
E TR
(A)
(B)
(©
(D)

FIA (a) T B
Fae (b) T ©
(a) T (b) I TeTd &
(a) T (b) QT Tl &

SPACE FOR ROUGH WORK / 1% &8 & fa& s
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60. Match the followings : 60. =1 =1 fiem ifsa .

List - I List - II -1 Ht-11
(a) Indifference (i) EBIT - EPS (a) XY fog (i) EBIT - EPS
point analysis ’ fergeror
(b) Du-point chart (i) Profit allocation (b) TY-Uike TR (i) <Y faaror Fof
decision
(c) Beta analysis (iii) Financial (c) fter faerm (iti) ferftar foremor
statement analysis - Towm
(d) Bonus share (iv) Risk analysis (d) a3y (iv) Sifew favaro
Codes : %e
@ () (9 () @ ® (© (@
B) @ @ O @ B) @) @ @ G
® @ O @ @ ® @ O @ @
© Gv) @) @ () © ) @) @ @
® O @ @ @ @ O (@ @) (@
61. Match the followings : 61. =1 w1 foem #ifsa
List - I List - II ei-1 qH-11
(a) Green shoe (i) Black - Scholes @ WAy () =rH-vied
(b) Cash balance (i) Option (b) I ST (ii) ferehea
(c) Arbitrage (iii) Miller - Orr (c) eTfslers (itf) fHeR-31i
(d) Delta hedging  (iv) Modigliani - Miller ~ (d) Swer1 &fs (iv) feferart-fiaer
Codes : %< :
@ (b)) (9 (4 @ (b) (9 ()
B O @ @) B 6 @ @) ()
® @ @ @ 0 ® @ @ @ @
© @ @ O @) © @) @ @ @
D @) 6 @) @ O @) 6 @) @

SPACE FOR ROUGH WORK / T% &1 & fod sig



62.

63.

Assertion (A) :

WTO aims at achieving transperancy in

world trade relations.

Reason (R) :

The deficiencies of GATT, GATS and

TRIPS were the reasons behind the

formation of WTO.

Indicate the correct answer from the

following :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) :

Exchange rate volatility has become a

major source of macroeconomic

uncertainty affecting the value of the firms

in the floating exchange rate regime.

Reason (R) :

Hedging helps managers have a tide over

the adverse effect of exchange rate

volatility.

Indicate the correct answer from the

following :

(A) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(B) Both (A) and (R) are true, and (R)
is the correct explanation of (A)

(C) Both (A) and (R) are not true

(D) (A) is not true but (R) is true

62.

63.

AMFRAT (A) :

WTO fava =R # ureRfa o e &
e T B |

NIUT (R) :

GATT, GATS 3R TRIPS # @ifaai =t asie
T WTO & i | &/ |

= ¥ 9 9 SR SR

(A) (A) T (R) I T § SR (R), (A)
H1 HE AT ®

(B) (A) TN (R) & ¥ E 0 (R), (A)
1 GE e TE §

(C) (A) ¥ ¥ T (R) 319 ©

(D) (A) 79 § I4g (R) T §

fueRer (A) :

fafrma X & ofEdsie gee stefereaen
SAfATarar 1 U A Toh @I S g1 ¢ il
welfen fafma <X &= H Wi & AR ol gHifed
@ T

hIT (R) :

fafmra <X afereiierar & 3¢ THTe i e
@ % fau yeivel & fag ST '
fagdm el
aﬁvﬁwaﬁﬁmﬁmﬁq:

(A) (A) @ (R) I 09 § T (R), (A)
1 & e TR ©

(B) (A) T (R) I ¥F 3N (R), (A)
T TET S 1§

(C) (A) T (R) I A ©

(D) (A) 579 § T (R) ¥ §

SPACE FOR ROUGH WORK / T% &M & fo S8



64.

Assertion (A) :

Purchasing power parity can best be
expressed as ‘the number of units of a
currency required to buy the same amount
of goods and services in the domestic
market as one dollar would buy in the
u.s’

Reason (R) :

Purchasing power parity has a bearing
on the exchange rate determination.

Indicate the correct answer from the
following :

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(©) (A) is true but (R) is false

(D) Both (A) and (R) are false

64.

PR (A) :

Tig Vi THaT 1 399 alh § 39 €9 1
= fopan < Wepen © TRl g1 T gohTSE
i STETF T SN R IR H Fgaii @
Qarsl sl forat A BliE Feha § aegell @
[l st 3t € A STAfkRT H T gler 1
TS S g ®1

T (R) :

fafma R g § %3 i, fafme ©
Freftor =6t gonfaa A €|

3T WE W &l F7 § W

(A) (A) T (R) S ¥ € 3R (R), (A)
i TE e ®

(B) (A) T (R) M ¥ § TG (R), (A)
! HE e T g

(C) (A) = € g (R) 379 §

(D) (A) T (R) SFI o7 €

SPACE FOR ROUGH WORK / T &/ & fod g



Assertion (A) :

Derivatives are risk management tools.

Reason (R) :

Swaps and futures are derivative
products.

Indicate the correct answer from the
following :

(A) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) Both (A) and (R) are false

65.

AUFHST (A) :

SeaftEl SIfEH gsiEH % WEE © |

/T (R) :

Wy T E S 3K 8

3O W Sl T @ Ty

(A) (A) T (R) 3 ¥ § W (R), (A)
F e A T ®

(B) (A) e (R) 3 & § 3 (R), (A) Ft
U e §

©) (A) T & Y (R) A §

(D) (A) a1 (R) ST 379 §

SPACE FOR ROUGH WORK / & & & fed g



66.

67.

Assertion (A) :

A firm importing goods from a foreign

country will favour a forward market

hedge when its forcast rate is higher than

the forward rate.

Reason (R) :

In the absence of a forward market

hedge, the firm will land up in paying

more due to an upward movement in the

exchange rates.

Indicate the correct answer from the

following :

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) Both (A) and (R) are false

(D) (A) is false but (R) is true

Indicate the correct sequence of economic

integration :

(a) Free trade among members

(b) Common external commercial
policy

(c) Free factor mobility within market

(d) Harmonized economic policies

(e) Supernational organizational
structure
Codes :

(A) (®), (d), (9) (o) (3
(B) (), ®) (e), (d), (a)
©) (@) (b), (©), @) ()
(D) (&), () (), (b), (a)

66.

67.

AfaweT (A) :

faoel @ #eT ST &Y oTel HIE W,
ST X AT T BRAS R U Afh 81
T RS AThHe B 1 98T T |

/T (R) :

HRES Hihe 391 i Tgureafa # fafma &
H gfg 81 % HRU FH &I E e
T IS Tl |

=1 9 wEr Sw sy

(A) (A) 9 (R) 41 5 ¥ 3R (R), (A)
! TE AR §

(B) (A) T (R) S ¥ € T (R), (A)
! TEI AT T §

(C) (A) 7 (R) I 30T €

(D) (A) 3T § 7% (R) ¥ ©

THEET THIHIU T TG STHT T

(a) WS & 7L Yo AR
(b) A ST afuriaeh ifd

(c) WNIR % 3T Yol Hehi ! TTeierar
(d) gETa nfde ifar

) I UL (YIITAS) FISATHSE

=

e
(A)
(B)
©
(D)

b), (d), (¢), (e), (a)
), (b), (e), (), (a)
a), (b), (c), (d), (¢)
e), (c), (d), (b), (a)

(
(c

(
(

SPACE FOR ROUGH WORK / T% &Td & fa& wg
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68.

As per the provisions of the Income Tax 68.

Act as applicable to AY 2016 - 17,
surcharge shall be levied on non-domestic

companies at :

(a)

(b)

2% if the aggregate income exceeds

Z 1 crore but does not exceed ¥ 10

crore.
5% if the aggregate income exceeds
¥ 10 crore.

State if :

(A) (a) is correct but (b) is incorrect

(B)

©

(a) is incorrect but (b) is correct
Both (a) and (b) are correct

(D) Both (a) and (b) are incorrect

“Hospitals located anywhere in India 69.

other than the “Excluded area” and
fulfilling the laid down conditions are
entitled to a deduction of 100% of such
profits and gains from the Gross Total
Income (GTI)”.

Which of the following area(s) is/are not

covered under this “excluded area” ?

(@)
(b)
©)
(d)

District of Faridabad
District of Gurgaon
District of Gautam Budh Nagar

Trivendram

(Thiruvananthapuram)

Codes :
(A) () and (b)

(B)

() and (b)

(©) (b)and (d)
(D) (d) alone

AY 2016 - 17 & foru gy e stfufam
F yrauHl % AR, R-e FEE W
T QL ATGUR T S |

(a) T I 1T Y AF R 10 FE
q HH W2%

(b) 10 HUS ¥ feH M W 5%

AeEe AfE

(A) (a) TE ¥ R (b) T T 7
(B) (a) & T ¥ TG (b) WE ©
(C)  (a) 3R (b) I W& &

(D) (a) 3R (b) il T €

RE § RIS TSl A afsid &' il Bige
el off o 21 oiR T fruiia ol o QW
WA A TE GHA FA I Y T IFL F
W SR WifE W 100% G Herd A H
iyl B 1

0 YHR & ‘afsd &' % sl ®E /4
& T ST ¥ ?

(a) IR fsen

(b) Tenita fen

(c) TaH g5 TR fsen

() fregw (forearaq™)

e

(A) () 3 (b)
(B) (a) 3R (b)
© () 3R ()
(D) e (d)

SPACE FOR ROUGH WORK / T& @& & fod smg
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70.

71.

Which of the following statements is/are
true ?

(a)

(b)
(©)
(d)

Income Tax can be levied by the
Central Government only

Wealth Tax is a direct tax
Income Tax is an indirect tax

Individuals of more than 80 years
age are not liable to pay tax

Codes :

(A)
(B)
(©
(D)

(@) and (d)
(@) and (c)
(a) and (b)
(c) and (d)

The term “Salary”’ for the purpose of HRA

as per Income Tax Act shall include :

(a)
(b)
(©)

(d)

Basic salary
Dearness allowance

Commission based on fixed
percentage of turnover achieved by
the employee

Perquisites

Codes :

(A)
(B)
©
(D)

(a), (b) and (c)
(a), (b) and (d)
(b), (c) and (d)
(a), (c) and (d)

70.

(a)

(b)
(©)
(d)

C T3

(A)
(B)
©)
(D)

71.

= & 9 39 9/9 o g 882

3T X hIS g TR O Tahall &

T T Tk YT FE
3R Tk ATTS FL &

80 919 | SR F R H H oA Y
ST eI Bt

(a) 3R (d)
(a) 3R (c)
(a) IR (b)
QNG

AMIHT AFFIAITER HRA 39T & fau

‘Yol v H e war ©

(a)
(b)
(©)

(d)

E TR

(A)
(B)
©)
(D)

s Ferdt

HEME

FHHYA, S FHAR §RT YT SH3Ta]
frers wigwa ® enenfia g )

fafaa =

(a), (b) 3R (0)
(a), (b) 3 (d)
(b), () ¥R (d)
@), (¢) 3R (d)
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). As per the Indian Income Tax Act : 72, ARG SR ATUFTEHTER

(a) Pension received by an employee is (a) ‘Eerdt’ 3w & Siara wHA g
chargeable to tax under the head arfsfa M, R A S B
‘Salary’.

(p) Commutation of pension is (b) 10 (10A) ©I & 3favia JAT T
exempted from tax as provided F W o W@ T 7

u/s 10 (10A).

State if : AT Al

(A) (a) is true but (b) is false (A) (a) T & T (b) 379A ®
(B) (a) is false but (b) is true (B) (a) 39 § T (b) A &
(C) Both (a) and (b) are true () (a) 3R (b) I T &

(D) Both (a) and (b) are false (D) (a) 3T (b) I 79 §
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73,

Sec. 35 (AC) of the Income Tax Act
provides :

(a)

100% deduction from business or
profession of the expenditure
incurred on an ‘eligible project’ or
‘scheme’.

(b) “Eligible projects or schemes’ are
such projects or.schemes which are
meant for promoting social or
economic welfare or uplift of the
public, as may be specified by the
Central Government on the
recommendations of the National
Committee.

State if :

(A) Both (a) and (b) are true

(B) (a) is true but (b) is false

(C) Both (a) and (b) are false

(D) (b) is true but (a) is false

73.

3R STfUfam % ¥R 35 (AC) ¥a1 & :

(@)

(b)

‘g PR’ T TR 9 Y 3
gefya a9 g« 99 ¥ 1009
N |

‘I et s1er TR Y e €
W € S U wfifa % S w
HE TR g TR < S
H GUR s19a SR a1 oTifefen weam
% Hreared ¥ ey wad €1

AR Al :

(A) (a) 3R (b) T T &

(B)

(a) I § T (b) 318 €

©) (a) 3R (b) B s €

(D) (b) T T W (a) 39 &
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Match the following in the context of the 74. YRAT ST Afuf=M 1961 % Tesf o =

Indian Income Tax Act, 1961 : CIRE I

List - I List - II T -1 Tt - 11
Indian Company () Sec.2(31) (a) IHE HFAL () T-2(31)
Types of residents (i) Sec.2(45) (b) STEME F YRR (i) HRI-2(45)
Person (iii) Sec.6 (c) =afw (iti) ¥NI-6

d) Total Income (iv) Sec.2(26) (d) T T (iv) HNI-2(26)

Codes : FHeE

@ () © (@ @ () () (d
(A) @ @v) @O @) (A) @ @) @& @)
B) @) @O G @) ® @ @ @ )
© (@v) G @O @ © Gv) (@@ @& G
O @ G@ @) @) O O @@ @ )
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75.

Compute the amount of taxable capital
gains for an assessee who has provided
the following particular for the assessment
year 2016-2017 :

House purchased in

year 1981-82 : ¥ 2,50,000

Purchased another residential

house in September 2015 : T 6,00,000

Sold the first house in

Nov. 2015 : < 40,00,000

Invested in bond of NHA of
India covered under sec. 54EC

in January 2016 : < 5,00,000

The cost inflation index in 1981-82 was
100 and in 2015-16 was 1081.

(A) T 12,97,500
(B) T 6,97,500
(C) T 7,97,500
(D) T 1,97,500

-00o0-

75.

fedt w1 fAaffidt 3 w1 fyfm
2016-2017 % fau Fr=fafaa foere
Sq fau =2 drg I afsr & ufi
I

g9 1981-82 H =X @l - T 2,50,0

faawer 2015 % T qEU
ST =R Gl :

TR 2015 U 98t 9Tt =X
I S

S 2016 § W 54EC %
Sta Efld Wd % NHA
i o o foran T 5,00,0(

1981-82 H TG HEIEw T 100 o

2015-16 ¥ 1081 :

< 6,00,

T 40,00,

(A) T 12,97,500
(B) % 6,97,500
(C) ¥ 7,97,500
(D) ¥ 1,97,500

-00o0-
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S % W, § T OMR SW-e (e-e) = sifea i

HOMCHeR Hedish T8l Tohal STerT |
ferdit +ff TE & Herpeler A1 | Toel Wol HieTge BIF HT TAN afeid ¥

OMR SWR-¥MIZ (ER-fe) F1 T A T Vel h1E STEmeem 7 #/a o 98 B 5/ -
344 IS A1 faerae e s Wi o9 wera®y a8 @ & 59 |

Note :

This Question Booklet contains 75 questions. Each question carries 2 marks. Answer al

questions.

Indicate your answers on the OMR Answer-Sheet provided.

No negative marking will be done.

Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-sheet care should be taken so that the Answer-sheet does not gel
torn or spoiled due to folds and wrinkles.




